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‘Notes

Q)

(ii)

(iiD)

(Iv)

(v

All questions are compulsory. Internal options are given in ea¢h

question from Question Nos. 5 to 18. |

Each question from Question Nos. 1 to 4 carry 5 marks and each

sub-question carries 1 mark.

Each question from Question No. 5 to 8 carries 2 marks and word

limit for each answer is approx 30 words.

Each question from Question Nos. 9 to 13 carries 4 marks énd‘wbrd

limit for each answer is approx 75 words.

Each question from Question‘Nos. 14 to 16 carries 5 marks and word

limit for each answer is approx 120 words.

Each question from Questioh Nos. 17 and 18 carries 6 marks and

word limit for each answer is approx 150  words.

(vii) Draw neat and labelled diagrams wherever necessary.
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(iv) drees o #
‘Select and write the correct option from the options given in each question:

(@ The best device used to measure the e.m.f. of electric source

s
€3] V'oltineter
(i1) Ammeter
(iii) Galvanometer
© (i) ‘P.ote'ntiometer

(b)  Unit of magneﬁc field _intensi'tfy is

_ Newton
@ Ampere x meter
.. Newton
@) Ar'npere2
~ Newton
G reter?
Newton x Meter

(i)

" Ampere
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(e)

The speed of electromagnetic wave in vacuum is :
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If two lenses of focal lengths f] and f;, are placed in contact the equivalent -

focal length of the combination of lenses so formed will be :
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(ii5) hth .
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(tv) \/—fl‘fz | .
Zener diode ’is uséd in :
@) | .Ampljﬁcati()ln
(ii)> Rectification
(tii) Pfoducing ogcillation regulatiop

(v) Voltage regulation
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Fill in blanks :

(%)

(@) _ Number of ’eleictrons in one coulomb charge are ...........cccooeienees .
‘(b) The cause of a thin film Fto be seen coloured in white light is
(c) Thé number.of images for an object kept between two parallel plane
mirrofs ére ................... e
(d) The numerical Vé_llue of specific qharge of an electron is ....ccccvveeveerceenne
(e) The ‘;ime period of communication satellite iS ... ..... .
e ‘e | | Cwm oA o
(1) e W Ea H!ﬁ?ﬂ @) e=(n, p + ’1_0110)
(@) v L) Ry -
(W) TEwE e i) VL
(@) wema e @ 2 ml
m' wered RISEA ) 4ne‘0R



826

Match the columns :

; Columnr A o ', Column B
(@)  Capacity of spherical copductor (1) e =(n, u, + 71,0140)
®)  Potential gradient i)
() Magnetic moment . (iiz) VL
(c.i‘) Ehergy of photon () -2 ml

(e‘)‘ Conductivity of semiconductor material (v)  4ne, R
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Write the answers of the followiﬁg qﬁestions in oné sentence each :

(@) | Write the numerical value of vdielﬁec;cric constant of metal.

(b)  Write the relation between peak value and r.m.s. value of alternating

current.
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(c) ~ What is numerical value of least distance of distinct vision for healthy

eye of human ?

(d) If trivalent impurity is added in pure semicohductor, what type of

semiconductor will form ?

(e) Onl-what principle does the opticél fibre work ?
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Write any two differences between electromagnetic waves and sound

waves.
Or

Write any two differences between interference and_diffraction of

light.
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The refractive index of material with respect to air is /9 . What will be the
value of critical angle for it ? Calculate it. |
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Or

Refractlve index of glass with respect to air is 1.5. Find the refractlve index .

of air W1th respect to glass.
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Why does the phenomenon of photoelectric emission for a metal not happén_

with the wavelength of light greater than a particular value ?

Or

-Why is the wave nature of matter not seen in daily life ?
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Write down any two differences between analog and digital signal.
Or

Write.any two uses of optical. fibre.
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Derive expression for the force acting between two parallel current carrying |

conductors.

Or
What is meant by shunt ? Write the principle of shunt.
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Answer with reason :

(@) The coil within a resistance box is doubled coiled, why ?

~(») Sometimes spark is p'roduced in a switch, when current is switched off.

- Why ?
Or
(d) “Why is core of transformer made laminated ?

() Why is coil of moving coil‘ gaivanometer made by wouding a wire o1

an aluminium frame ?
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The ratio between maximum and minimum intensities in superposition of two

light waves is 9 : 1. Find out the ratio of amplitudes of both waves.
Or

Prove that :

. d=2Rh
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Describe compound microscope under the following points : : r

(@) Labelled ray diagrém

(b)  Expression for magnifying power when final iinage is formed at the

least distanée of distinct vision.
Or
Describe the astronomical telescope under the following poiﬁts :
(a') Labelled raSr diagrém ‘

b) Expression for magnifying power when final image is formed at the

least distance of dlstlnct vision.
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" What are the elements of communication system ? Explain it by drawing block

diagram.
Or
Describe a ﬁmdem under the following points :
(ij La‘belled block diagram
(i) Working method. ’
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Prove that potential at point on transverse (equatorial) position of electric

dipole is zero.
Or

Estabhsh the formula for the capacity of spherlcal capacitor.
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‘What is d.c. motor ? Explain its construction and working with the help of

labelled diagram.
Or

A re»sistance and inducténce are connected in series with a source
6f, alternating e.m.f. Derive an expression for resultant voltage, impedance
'and phase difference between current and voltage in alternating
circuit.
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(i)

i) el fam = ffq fova =1 @9 & WY uﬁaﬁ? aqﬁ@

AAT
Naémea%mmﬁﬁﬁ%rmfaf@n |
Explain the use of P-N juncfcion. diode as full wave réctiﬁer on the ‘basis of
the following points :
(i)  Labelled circuit diagrafn
@i1) Working me'tthod'
(i11)- Grap}‘ll ,betwee'n ‘in_put and ou'tpui:, potential with- the variation o'f

timé. | | ”
Or

Write down ﬁv’ev }differénces bgtween N—typekand P-fype sefniconfiuctprs.
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Describe the experiment to compare the e.m.f. of two cells using potentiometer

under the following points :
(j) Labelled electric circuit diagram
(i1)  Derivation of formula
(i) Observation table
(tv) Two precautions.
Or

A Leclanche cell gets balanced on the wire of potentiometef at 280 cm. If
a Daniell cell is joined in series with Leclanche cell, then the Bala_tnce point

is obtained at 480 cm. Compare the e.m.f. of two cells.
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Establish Lens maker’s fqrmﬁla :

1 (1 1
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f R, Ry
Or.
Define deviation without dispersion. Derive an expression for its essential

condition and resultant deviation. 4

826 | 16



